K561,K564,K176, K561/M1
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Tun MUKPOCXEMbI

K5611MM1

durpma npounsBoguTEND

CHI

(DyH KUMOHallbHOE Ha3Ha4YeHne

4-pa3psgHbiii cymMaTop

T,C

-10...470

Vdd min...vVdd max,B -0.5...+18
Pd,mBT 300
Hanp.cur. A.B-SUM
Vil(Vnl),B npu Vdd=5B 15
Vih(Vnh),B npu Vdd=5B 3.5
Icc,MKA npn Vdd=5B <20
TpHL tip,Hc npn Vdd=5B 60
TpLH tip,Hc npn Vdd=5B 60
TpHL max,Hc npu Vdd=5B  |150
TpLH max,Hc npun Vdd=5B  |150
Vil(Vnl),B npu Vdd=10B 3
Vih(Vnh),B npn Vdd=10B 7
Icc,MKA npu Vdd=10B <40
TpHL tip,Hc npn Vdd=10B 30
TpLH tip,Hc npn Vdd=10B 30
TpHL max,Hc npu Vdd=10B |60
TpLH max,Hc npun Vdd=10B |60
Vil(Vnl),B npu Vdd=15B 4
Vih(Vnh),B npn Vdd=15B 11
Icc,MKA npu Vdd=15B <80
TpHL tip,Hc npn Vdd=15B 20
TpLH tip,Hc npn Vdd=15B 20
TpHL max,Hc npu Vdd=15B |50
TpLH max,Hc npun Vdd=15B |50
Kopnyc 16DIP




